

13703 pms

Mr. Richard Stolleis, PE

Fort Bend County Engineer

Fort Bend County

Engineering Department

301 Jackson St.

Richmond, TX 77469

On-Call Engineering Services Fort Bend County PO #13703

For Professional Services rendered from October 1, 2017 to October 27, 2017:

FBC On-Call

Professional Personnel

	Hours	Rate	Amount
Senior Project Manager			
Talje, Bassem	53.00	190.00	10,070.00
Senior Project Engineer			
McMahan, Michael	12.00	150.00	1,800.00
Associate Engineer			
Carrillo, Francisco	70.00	125.00	8,750.00
Designer			
Bathe, Cody	15.00	100.00	1,500.00
Totals	150.00		22,120.00
Total Labor			

22,120.00

November 10, 2017 Project No:

Legacy Project No:

Invoice No:

003062

1017040

0262.014.000

\$22,120.00

Reimbursable Expenses

Direct Exp.-Mileage Reim Exp-Mileage

Total Reimbursables

32.10 136.97

1.0 times 169.07

\$169.07

169.07

Recap:

Total Billings

Contract Amount

Balance

Current

22,289.07

Previous

2,398,980.57

To-Date

2,421,269.64 2,468,269.36

46,999.72

Total Due This Invoice:

\$22,289.07

Remit Payment:

1160 N Dairy Ashford, Suite 500, Houston, Texas, 77079

T: (281) 589-7257 F: (281) 589-7309

Project	003062	Fort Bend County On-Call Eng Services	Invoice	1017040
Billin	g Backup		Mond	lay, October 30, 2017
DDC Klotz	Associates Inc (Tive)	Invoice 1017040 Dated 11/10/2017		5.58.10 PM

I I OZCUDION	al Personnel				
			Hours	Rate	Amount
_	ject Manager				
000653	6 - Talje, Bassem	10/9/2017	3.00	190.00	570.00
		m the contractor about syste			
000653	6 - Talje, Bassem	10/10/2017	2.00	190.00	380.00
		m the contractor about syste			
000653	6 - Talje, Bassem	10/11/2017	4.00	190.00	760.00
		age tie -in with the adjacent we need to modify our sheet t			·
000653	6 - Talje, Bassem	10/11/2017	2.00	190.00	380.00
000653	6 - Talje, Bassem	10/12/2017	4.00	190.00	760.00
000653	6 - Talje, Bassem	10/12/2017	2.00	190.00	380.00
		age tie -in with the adjacent re need to modify our sheet t			
000653	6 - Talje, Bassem	10/13/2017	3.00	190.00	570.00
		age tie -in with the adjacent we need to modify our sheet t			
000653	6 - Talje, Bassem	10/13/2017	1.00	190.00	190.00
000653	6 - Talje, Bassem	10/16/2017	1.00	190.00	190.00
	Coordination between T	XDOT and IDC/Atkins/PAS	,		
000653	6 - Talje, Bassem	10/16/2017	1.00	190.00	190.00
		age tie -in with the adjacent we need to modify our sheet t			,
000653	6 - Talje, Bassem	10/18/2017	1.00	190.00	190.00
		age tie -in with the adjacent we need to modify our sheet t			
000653	6 - Talje, Bassem	10/18/2017	2.00	190.00	380.00
	Coordination between T	XDOT and IDC/Atkins/PAS	3		
000653	6 - Talje, Bassem	10/19/2017	3.00	190.00	570.00
	Coordination between T	XDOT and IDC/Atkins/PAS	5		
000653	6 - Talje, Bassem	10/19/2017	1.00	190.00	190.00
		age tie -in with the adjacent we need to modify our sheet t			
000653	6 - Talje, Bassem	10/20/2017	4.00	190.00	760.00
	solutions	areas office to discuss pendi			
000653	6 - Talje, Bassem	10/20/2017	2.00	190.00	380.00
	Coordination between T	XDOT and IDC/Atkins/PAS			
000653	6 - Talje, Bassem	10/23/2017	2.00	190.00	380.00
	Coordination betwwen T	XDOT and IDC/Atkins/PAS	3		•
000653	6 - Talje, Bassem	10/23/2017	1.00	190.00	190.00
	Pending Items with TXI Detention Pond, Right to limits added to our limit	OOT submittal - TF/Hurrican urn Lane Utility conflict, add s	e Lane intersectional pavemen	tion - at with SER	
000653	6 - Talje, Bassem	10/24/2017	1.00	190.00	190.00
	• .	CXDOT and IDC/Atkins/PAS			

Remit Payment:1160 N Dairy Ashford, Suite 500, Houston, Texas, 77079
T: (281) 589-7257 F: (281) 589-7309

				S			
000653	6 - Talje, Bassem	10/25/2017	2.00	190.00	380.00		
	Coordination between TX	CDOT and IDC/Atkins/PAS	S				
000653	6 - Talje, Bassem	10/25/2017	1.00	190.00	190.00		
		DT submittal - TF/Hurrican					
		n Lane Utility conflict, add	tional pavemen	it with SER.			
000655	limits added to our limits	10/04/0015	2.00	100.00	550.00		
000653	6 - Talje, Bassem	10/26/2017	3.00	190.00	570.00		
		OT submittal - TF/Hurrican					
	limits added to our limits	n Lane Utility conflict, add	nonai pavemer	n will SEK	•		
000653	6 - Talie, Bassem	10/26/2017	2.00	190.00	380.00		
	.	OOT and IDC/Atkins/PA					
000653	6 - Talie, Bassem	10/27/2017	3.00	190.00	570.00		
	- /	CDOT and IDC/Atkins/PA					
000653	6 - Talje, Bassem	10/27/2017	2.00	190.00	380.00		
	• .	OT submittal - TF/Hurrican					
	Detention Pond, Right tur	n Lane Utility conflict, add					
	limits added to our limits						
Senior Proje	-						
000750	7 - McMahan, Michael	10/12/2017	4.00	150.00	600.00		
	General Conditions Revis	ions					
000750	7 - McMahan, Michael	10/13/2017	8.00	150.00	1,200.00		
	General Conditions Revis	ions					
Associate Er	ngineer	•					
000624	20 - Carrillo, Francisco	10/2/2017	6.00	125.00	750.00		
	Right Turn Lane, Detention	on Pond for Sys A					
000624	20 - Carrillo, Francisco	10/3/2017	4.00	125.00	500.00		
	Right Turn Lane, Detention	on Pond for Sys A					
000624	20 - Carrillo, Francisco	10/11/2017	9.00	125.00	1,125.00		
	Comments by WB and Tx						
000624	20 - Carrillo, Francisco	10/12/2017	9.00	125.00	1,125.00		
	Comments by WB and Tx						
000624	20 - Carrillo, Francisco	10/16/2017	9.00	125.00	1,125.00		
		r RTL, Hurricane Lane De	tention				
000624	20 - Carrillo, Francisco	10/18/2017	3.00	125,00	375.00		
		Hurricane Lane Detention					
000624	20 - Carrillo, Francisco	10/20/2017	8.00	125.00	1,000.00		
	Meeting with TxDOT at I						
000624	20 - Carrillo, Francisco	10/23/2017	9.00	125.00	1,125.00		
		on Design and Alternatives					
000624	20 - Carrillo, Francisco	10/24/2017	6.00	125.00	750.00		
•		on Design and Alternatives	-				
000624	20 - Carrillo, Francisco	10/25/2017	4.00	125.00	500.00	•	
		FBC Toll Road Ramp and	-				
000624	20 - Carrillo, Francisco	10/26/2017	3.00	125.00	375.00		
	FBC Toll Road Ramp and	l pavement limit extension					
Designer		40/040		100.55	- 00.5-		
000620	15 - Bathe, Cody	10/2/2017	5.00	100.00	500.00		
		ounty about crab River Roa	id utilities and i	right of way			
000620	also disscus schedule for t		4.00	100.00	400.00		
000620	15 - Bathe, Cody	10/16/2017	4.00	100.00	400.00		
	Meeting with county on u Atkins						
	15 - Bathe, Cody	10/23/2017	6.00	100.00	600.00		

Remit Payment:1160 N Dairy Ashford, Suite 500, Houston, Texas, 77079
T: (281) 589-7257 F: (281) 589-7309

Project	Project 003062		Fort Bend County On-Call Eng Services	Invoice	1017040	
		h winstream and lig	thtwave rep to disscus conflict and coordinate a			
	solution.	m		22 120 22		
		Totals	150.00	22,120.00	22 128 68	
		Total Labor			22,120.00	
					\$22,120.00	
Reimb	ursable Expense	es				
Direct :	ExpMileage				•	
EX	000000020640	9/20/2017	Talje, Bassem / FBC - Stacy and commissioner office Gra / Trip to meet with Stacy and Comm. Grady / 60.00 miles @ 0.535	32.10		
Reim E	xp-Mileage					
EX	000000020682	10/2/2017	Talje, Bassem / Trip to FBC office / Trip to FBC office Project status meeting CRabb River Road / 20.8971 miles @ 0.535	39.06	r	
EX	000000020720	10/16/2017	Talje, Bassem / Trip to FBC office / Trip to FBC office Crabb river rd status meeting / 73.00 miles @ 0.535	39.06		
EX	000000020720	10/20/2017	Talje, Bassem / TXDOT areas office meeting / Meeting with TXDOT area office - Brazoria County - Trammel Fresno / 110.00 miles @ 0.535	58.85		
		Total Reimburs	ables 1.0 times	169.07	169.07	
					\$169.07	
				· .	\$22,289.07	
			Total this	s Report	\$22,289.07	

Remit Payment: 1160 N Dairy Ashford, Suite 500, Houston, Texas, 77079 T: (281) 589-7257 F: (281) 589-7309